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QUESTION 1

A customer is using VNX Replicator to replicate data from a single file system to a remote location. They are planning to
replicate more file systems, but monitoring tools are showing bursts of data on the link instead of a smooth and constant
flow of data. They also notice that latency on the link is higher than expected. 

What would you advise them to do to make more efficient use of the link? 

A. Use multiple network interfaces for the Data Mover interconnects 

B. Use Unisphere QoS Manager to throttle bandwidth for Replicator 

C. Set the TCP fast timer to 500 ms 

D. Set the TCP slow timer to 200 ms 

Correct Answer: A 

 

QUESTION 2

Which Linux host command is available to run as the boxmgmt user from the \\'Run Internal command\\' menu of the
Advanced commands? 

A. netstat 

B. tracert 

C. ifconfig 

D. ps 

Correct Answer: A 

 

QUESTION 3

A customer has a production CLARiiON replicating to a secondary CLARiiON at a remote site using MirrorView/S. The
customer wants to upgrade to new EMC VNX, but due to cost constraints, they can only upgrade one of the CLARiiON
arrays at this time. 

How do you advise the customer? 

A. A mirror relationship cannot exist between CLARiiON and VNX LUNs. 

B. Replication between faster ports and slower ports is not supported. 

C. Storage pool LUNs cannot mirror to RAID group LUNs. 

D. VNX can only replicate to other VNX arrays. 

Correct Answer: A 
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QUESTION 4

A customer plans to connect ESXi 5.0 hosts to a new EMC VNX array. They want to take advantage of the hardware-
assisted locking feature in VAAI. Which is a feature of hardware- assisted locking? 

A. Locking at the block level of a logical unit 

B. Locking the LUN instead of the block level 

C. Accessing a block from multiple hosts at the same time 

D. Automatic enabling of safe data caching 

Correct Answer: A 

 

QUESTION 5

A customer wants to reduce the performance impact that Incremental SAN Copy (ISC) has on their source LUN. 

They plan to use a clone between the current source and destination LUN, and then use the fractured clone as the new
ISC source LUN. The source LUN performs 400, 8 KB random I/O per second, with a 3:1 read/write ratio. The source
LUN is 512 GB in size, and the clone will be fractured for five minutes. 

How much data will be copied to the destination LUN? 

A. 937.5 MB 

B. 3,750 MB 

C. 7,500 MB 

D. 14,750 MB 

Correct Answer: C 
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